logarithmic -, g0, o Vo data u>\=()\_55o)/g logarithmic -, “go, of o u;\z()\-sso)/g

=(log o+logVo)/2 log =—0,35u\-u ] log: =(log o+logVi)/2 log ¢=—0,35uy-u ]
go=log . +0,78 logVo=-0,35\~Us.]? log - gi=log - . +0,78 logVlo=-0,35~Us.]?
go -+ o Vol Adaptation: A = log[“go ~+ of " s Mo/ ] Adaptation: A =
iy = maximum maximum
© © log(* . -m)=-0,71 log(~ - m)=-0,71
m=0,1 =0l
Threshold Threshold
-1 t:=0,03, $=0,00 2=0,03, $=0,00
N -1 1 3 Uy, - p ; 3 Uy,
7(;0 A/nm 400 7(30 A/nm

EE391-1N EE391-2N
logarithmic ©. . Cgo, o odata  Uy=(A-550)/5( ithmi . Cgor o o© .- U\=(A-550)/!
logt-. =(log otlog o)/2 log =—0,35u)-u ] =(log otlog o)/2 log o=—0,35u)-u ]
log©go=log®. +0,78 log o=—0,350\-u ]2 go=log. +0,78 log 0=-0,35[\-u ]2
10g[“gor | Adaptation: A = , o= . o ] Adaptation: A =

g maximum maximum
s e ° ey log(
m=0,19 m=0,19
Threshold Threshold
1T 20,03, $=0,00 T=0.03, =0,00
N -1 1 3 Uy, ] 3 Uy,
700 A/nm 700 A/nm

EE391-3N
logarithmic L .Lgo, o odata uA:()\-sso)@
logL  =(log otlog o)/2 log o=-0,35l\-u ]

EE391-4N
logarithmic L, Lgo, o/l JL u,\:()\-sso)/g
logL =(log ot+log ¢)/2 log o=-0,35u\—u ]

, log ' 0=-0,35[\~u |* IogL g=logL , +0,78 log 0=-035k-u ]2
W Adaptation: A =570 L. ol L. ] Adaptation: A =570
570
0 maximum ST
| qJEg(l m)=-0,71 L
g 0,19 9 i
______ v oL ) L Threshola
2t 0 = =103, 5=0,00
* a .
2T-3
400

EE391-6N
o . Uy=(A-550)/50
log . =(logVigtlog o)/2 logVo=—0,35[u)-u ]2
log go=log . +0,78 log ©=—0,35l)-u ]2
log[ go Mo/ ., o .]Adaptation: Ay =

R:495, 570, 645 EE391-5N S:495, 570, 645

logarithmic . go Vo, odata Ur=(A-550)/5( logarithmic . go Mo
log . =(loglVigtlog o)/2 loglo=—0,35[u)-u 2
log go=log . +0,78 log 0=-0,35lu,-u ]2
l0g[ g0+ Mo ol Adaptation: A, =

¢ maximum maximum
41090 - m=26,71 : - Jlog(" | m)=-071
n=0,19 m=0,19 go
Threshold Threshoid o o
1T t,=0,03,+-,00 0 Ti3=0,0, 5=0,

N -1 1 3 U

+
700 A/nm
EE391-7N S:545, 620, 695 EE391-8N
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